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AT A€ / General Instructions:

1. This question paper consists of four sections A, B, C and D.
Section- A Reading - 20 Marks
Section -B Writing - 20 Marks
Section -C Grammar - 15 Marks
Section -D Literature - 25 Marks
2. Read all the questions carefully and attempt all the questions.
3. Numbers to the right indicate the marks.
4. All the questions of that particular section should be in the correct order.
5. Do not write anything in the question paper.

SECTION A-READING (20 MARKS)

Q.1 Read the following passage given below.

From far out in space, the Earth looks like a blue ball. Since water covers three-fourths of the
Earth's surface, blue is the colour we see most. The continents look brown, like small islands
floating in the huge, blue sea. White clouds wrap around the Earth like a light blanket. The
Earth is shaped like a sphere, or a ball. It is 25,000 miles around! It would take more than a year
to walk around the whole planet. A spaceship can fly around the widest part of the sphere in
only 90 minutes.

Even though spaceships have travelled to the Moon, people cannot visit the Moon without
special suits. The Moon has no air or water. Plants and animals can't live there either.
Astronauts first landed on the Moon in 1969. Afier that, there were six more trips to the Moon.
They brought back Moon rocks, which scientists are still studying. There are holes, or craters,
all over the Moon's surface. Scientists believe that meteorites smashed into the Moon millions
of years ago and formed the craters.

The Sun is the closest star to the Earth. A star is a hot ball of burning gas. The Sun looks very
big because it is so close. But the Sun is just 2 medium-sized star. Billions of far-away stars are
much bigger than our Sun. The burning gases from the Sun are so hot that they warm the Earth
from 93 million miles away! Even though the Sun is always glowing, the night here on Earth is
dark. That's because the Earth rotates, or turns around, every 24 hours. During the day, the Earth
faces the Sun. Then we see light, During the night, the Earth turns .away from the Sun. Then it
faces the darkness of space. Each day we learn more about the Earth, the Moon, and the Sun.
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1.1 Based on the reading of the above passage, answer the following questions. (1x8=8)
1. Why is blue the colour we see most when looking at Earth from outer space?

(7) Beeause most of the Earth is covered in land.

(b) Because the Sun's rays make the Earth look blue,

(c) Because most of the Earth is covered in water.

(d) Because clouds wrap around the Earth.

2. What does the word 'formed' mean?

(a) hit (b) made (c) broke (d) stopped
3. Astronauts first landed on the moon in_
(a) 1961 (b) 1969 (c) 1869 (d) 1959

4. What causes daylight on Earth?
(a) The full Moon causes daylight i ‘
(b) Daylight is caused by the Earth facing away from the Sun.
+ (c) The heat of the Sun's rays causes daylight{ ’
(d) Daylight is caused by the Barth facing toward the Sun,
5. Which of the following sentences BEST descx"ibes the Sun?

(a) The Sun looks small because it is so far from Earth

(b) The Sun is a ball of burning gases that gives the Earth heat and light.
(c) The Sun is a small star.

(d) The Sun is not as hot as it looks. ’
6. Why did the astronauts bring rocks back ﬁonil the Moon?
(a) Because they didn't know if they would returr to the Moon ever again.
(b) Because they wanted to prove that they went to the Moon.
(¢) Because they wanted to remember how the Moon looked.
(d) Because they wanted to study them and learn more about the Moon.

7. During the day, the Earth faces the —

(a) rocks (b) burning gases , (c) sun (d) moon

8. Which word means nearly the same as "shining" in the passage? (para-3)

(a) warming - (b) darkness (c) burning (d) glowing
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Q.2 Read the following passage given below.,

Once upon a time there lived a famous holy man. I1e was a very religious and learned person.
His name was Rudra. One day, he decided to go to another village. He took with him only three
things. The first was o lamp so that he could read the holy books in the evening. The next was a
cock to wake him up in the moming so that he could offer his prayers. The last was a donkey
who could carry him on its back. After travelling for many miles, he came to a small village.
Nobody gave him shelter there. So he went out of the village and sat under a tall tree. Rudra had
no food to eat and nothing to drink. He lit the lamp to read the holy book but a strong wind blew
out the lamp. He said, “God is great and whatever he does must be for the best”. And he
stretched himself out on the cold earth and went to sleep. Next morning when he woke up the
sun was shining brightly. He saw some villagers coming towards him. “Are you all right?” they
asked him. “No, I’'m not,” complained Rudra. “You wouldn’t give me any shelter. So I had to
sleep under this tree without any food or drink. And the wind blew out my lamp so I could not
read my holy book.” “Is that all?” cried the villagers. “During the night some robbers attacked
us and took away everything we had. Anyone who tried to stop them was beaten up and three
men were killed”. Rudra once again knelt on the ground and thanked god.

2.1 Based on the reading of the above passage, answer the following questions. (1x4=4)

1) Who was Rudra?
ii) What three things did Rudra take with him?
iii) What was the first thing Rudra took with him?
iv) Why did Rudra take a cock with him?
2.2 Answer the following questions in about 20-30 words. (2x4=38)
i) Where did Rudra stay? Why?
il) Why did he light the lamp?
iii) What did he say when a strong wind blew out the lamp?
iv) What did the villagers tell Rudra in the morning?

SECTION B - WRITING (20 MARKS)

Q.3 You are Aarush/Aarushi, school captain of your school. Write a notice in about 50 words
for the school notice board, informing students about the Crayola Inter-school Art
competition to be conducted in the first week of October. Include all essential information.

®
OR

You are Sarvesh. You receive a telephone call from your mother’s office when she is not at
home. You have the following conversation with the speaker. But you have to go for your
tuition Class. So you leave a message for your mother. Write the message within 50 words
using the information given below. Do not add any new information.

Sarvesh: Hello!

Mr Mehra: Hello! May I sp
from the office. :
Sarvesh: Mom’s not at home ri

ath Ms Dixit please? I am Naresh Mehra
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is urgent. Please tell her that the

Mr Mehra: In that case can you give her a message? Ither to check her mail as soon as

mecting fixed for tomorrow has been reschefiuled. Ask
possible for the details. Please don’t forget to inform her.

Sarvesh: Don’t worry. I will tell her as soon as she returns.

, . tter to your
Q.4 You are Samina / Susrut living at 303, Gopal Enclave, De]%n' e };itieOn Ifs theme
uncle informing that you have won the first prize in all India art comp - )]
Was “Conservation of resources”.

OR
Write a paragraph on the topic “My School’.
b
Q.5 The following are clues for Yyou to write a short story in 100 to 125 words. Don’t forget

to give your story a title and moral. ®
An old farmer ................ Three idle sons............ father anxious' ................ '

Tell them of a treasure in the fields ... dies ..vvuurennns sons dig up the soil

............... excellent crop.

!

SECTION C - GRAMMAR (15 MARKS)

Q-6. In the following passage each line has an.'érror. Edit the passage by identifying th?
wrong word in each sentence, and then write the incorrect and the correct word in
your answer sheet as shown in the first example of the passage. (12x6=3)

Incorrect — Correct

Example: There was a boy call Badal. call called

1) He lived with her mother in a village

ii) and they was very happy.

i) One evening,whenBadal was returning for school,
iv) he saw an puppy shivering in the cold.

v) Badal brought he home. Badal and his mother )
vi) named the puppy Moti. Moti grew and loveBadal,

Q.7 Do as directed. | (1x2=2)
i) Which is tke right opposite of the word-‘Pride’?
a) foolish  b) ignore c) humility  d) forgot
ii) Which is the right synonym of the word-‘yelped’?

a) wept b) cried c) laugh d) jump
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A 28

Fill in the blanks with the correct form of the verb given in the brackets. (1x2=2)

Q8
i)l so sleepy. [ am fecl/am fecling/is fecling)

ii) The farmer came back and ____ (noticcd/was noticing/had noticed) that
Buntee was sad. —

Q.9 Rearrange the following phirases to form meaningful sentences. One has been do: : f:;'
(1x4=

you.

Example-There/once/farmer/was/a

Once there was a farmer.

i) farmer/the/ fruits/liked
ii) decided/he /grow/fruit/land/on/his/to
iiiy  worked hard/he/grow/to/of/variety/fruits/a

iv)  grew/well/trees/the

the
. Q.10 It was a full moon night. Some children had come out to sce the moon.- Coml?lc;::‘s )

conversation they had by picking the words from the help box.

Help box 7 .
a camera for the picture, so bright and big, says the full moon looks very beautiful, lets
take a picture ) _ - ”

Govind :Wow,look!
Safura : The moon looks so big and bright

Sukanya: Isn’tit?

Dhruyv : My grandfather( i)
Ramani : Let us take a picture.

Safura : My mother has (ii) _
‘.. Dhruv :Come.Stand here and iii)___ _

Govind :The moon is (iv) _ _ _

SECTION D-LITERATURE (25 MARKS)

Q11. Read the extract below and answer the questions that follow. 1x4=4)
The Raven, who did not see the joke,

Forgot that his voice was just a croak.

He opened his beak, in his foolish pride—

And down fell the morsel the Fox had eyed
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(i) Who is the poet of the poem?
a) Marry de La Fontaine  b) Jean Micheal La Fontaine

c) Jean de La Franchis d) Jean de La Fontaine
(ii) The Raven opened its beak to .
a) speak b) sing c) eat d) tear
(i) The fell down.
a) leaf b) food C) crow d) mango
(iv) A piece of foodiscalleda-
a) chapatti b) grain ¢) morsel d) bread

Q.12. Read the following extract below and answer the questions that follow.  (1x4=4)

When the elephant went out for a bath, the dog accompanied his friend. Plunging into the

water, the elephant gave himself a shower using his long trunk, as the dog watched. The )
elephant took a trunkful of water and playfully splashed the water on his friend. The dog 0)
yelped for he hated taking showers. The mahout iaughed.

i) Who went out for a bath?

ii) What did the elephant use to give himseil a shower?
iif) Why did the dog yelp?

iv) Who is a mahout?

Q.13. Answer ANY SIX of the following questions in about 30-40 words. 2x6=12)
i) Who was Rama Natha? (A Bottle of Dew)
ii) Why was Rama Natha angry? (A Bottle of Dew)
iii) What did the thief wish would happen? Did it happen? (Rama to the Rescue)
iv) How did the man and his wife get help from the kotwal? (Rama to the Rescue) = D
v) How will the speaker make her friends’ wishes come true? (A Friend’s Prayer)
vi) What happened when Mario sat on the chair for the first time? (The Chair)
vii) How does the poet feel about special friends? (A Friend’s Prayer)
Q.14 Answer ANY ONE of the following questions in about 80-100 words. (1x5=5)
i) Do you think cleverness can help us solve our problems? Why do you say so?
(Rama to the Rescue)

ii) What are the positive qualities that you would like your friend to have. Give a reason
for your choice. (A Friend’s Prayer)

W
ek
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BAT/CLASS -VI 3@afi/DURATION-3 Hrs.

v /SUBJECT-MATHEMATICS BT 3FH/MAX MARKS -80

WA fAEW /General Instructions:

1. This Question Paper has 5 Sections A, B, C, D, and E.

2. Section A has 20 Multiple Choice Questions (MCQs) carrying 1 mark each.

3. Section B has 5 Very Short Answer (VSA) type questions carrying 2 marks each.
4. Section C has 6 Short Answer (SA) type questions carrying 3 marks each.

5. Section D has 4 Long Answer (LA) type questions carrying 5 marks each.

6. Section E has 3 Case Based integrated units of assessment (4 marks each) with sub-parts
of the values of 1, 1 and 2 marks each respectively.
7. All Questions are compulsory.

SECTION—A (1 X 20 = 20 Marks)

1) The predecessor of 8000 is €))
(a) 7889 (b) 8001 (c) 7999 (d) 7890
2) Which one of the following is a prime number? 1)
@ 9 (b) 15 (€)1 (d) 11
3) Ria, Seema and Sonia bought some books. Sonia bought 10 books. (1)
Ria bought 5 books more than Sonia, Seema bought 3 books more than Ria.
How many books did they buy in all?
(a) 15 books (b) 43 books (c) 18 books (d) 40 books
4) The number 6 can’t be shown as a 1)
(a) Rectangle (b) Triangle (c) Line (d) Square
5) On dividing a mumber by 9, the quotient is 12 and remainder is 7. (1)
* The number is:

(@ 39 (b) 108 (¢) 115 (d 114
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‘ is classi (1)
6) Angle which is less than 360° and larger than 180° is classified as
- : . e
(a) acutc angle  (b) obtuse angle (c) reflex angle (d) right angl %
. ; . L
7) Tollowing figures are formed by joining six unit squares. Which figure has the small

perimeter?
@ ®) (©) @
8) The area of the shaded part in the given lem grid is: . (1) '
- —
(@) 8cm? (b) 16cm? . (c) 32cm? (d) 4cm?
9) What completes the given number pattern? €))
1,2,6,24, 120, -<----
(a) 600 () 720 (c) 240 (d) 210
10) Which one of the following statements is incorrect? ¢))
(@ 1111 is the smallest 4-digit no. (b) Place value of 5 in 5689 is 5000 . )
(¢) 57 is a composite number (d) 4 has three factors.
11) An angle whose measure lics between 0° and 90° is known as angle. (1)
a) Right b) Obtuse c) Acute d) Reflex
12) The sum of all odd numbers less than 10 is: n
(a)23 (b) 24 . (c) 25 @15
13) 10 million is: (¢))
(@) Onelakh  (b) Ten lakh (c) Ten crore (d) One crore
Page 2ol 7
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14) A symbol is used to represent 100 flowers. How many symbols are to be drawn to show

800 flowers? 0))
(2)8 ®) 12 (c) 10 (d) 80
| 15) The smallest 5-digit number written using the digits 4, 7, 5 and 0 with one digit
repeated is: 1
(a) 77540 (b) 40057 (c) 50047 (d) 44057
16) How many whole numbers are there between 20 and 35? (D
(a) 14 (b) 15 (c) 16 10
17) All the ----—---—----- numbers are divisible by 2. ¢))
(a) even (b) odd (c) prime (d) composite
18) Which one of the following shapes has exactly two lines of symmetry? (¢))
) (a) Square (b) Triangle (c) Rectangle (d) Circle
19) What is the number of houses represented by the figure 4 4~ 4~ 4" if each symbol
represents 15 houses? ' 6))
(a) 60 (b) 20 ©15 - (d) 40

20) Assertion (A): If the area of a square is 36cm?, then the side of the square is 6cm. )

Reason (R): Area of a square is side x side
(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true and R is not the correct explanation of A.
(c) A is true and R is false.
(d) A is false and R is true.

| SECTION B__ (2 X 5 =10 MARKS)

j O‘) 21) Give any two differences between a line and a line segment. )

22) The perimeter of square X and rectangle Y are equal. Find the side of square X. )

X Y 4cm

12cm
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23) Measure the angles given below, using the Protractor and write down the measure. 2)

{ad &5 )

24) There are 23 coaches in a train. Each coach contains 125 seats. How many people  (2)

can have seats in the train?

25) 5620 men and 3826 women lived in a village. 1827 people left the village. (@) )
\

How many people remained in the village?

SECTION C (3 X 6 = 18 MARKS)

26) Find the difference between the greatest and the smallest number that can be written
using the digits 6,2,7,4,3 each only once. _ 3)
27) Draw the lines of symmetry of the given shapes in your answer sheet.

o 0
D

| 3
6) (i)

Figure (i) has ----- lines of symmetry. ‘ )
Figure (ii) has ---—- lines of symmetry.
28) The glven is a magic square. The sum of each row, column and diagonals are equal.
Find sum of A and B 3

3 10

7 B

11 6
Page 4 of 7
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28) Using the figure name )

(a) Any two mys. B
(b) Lines passing through B. <
(6) Two pairs of intersecting lines.

v
JE

C
A B\ D
O

0°b.40° (3)
©))

30) Use a protractor to draw angles having the following degree measures: . 11
31) State whether the following statcments are truc (T) or false (F):

a) A horizontal line and a vertical line always interscct at right angles.

b) If the arms of an angle on the paper are increased, the angle increases.

¢) Two line segments may intersect at two points.

N SECTIOND __(5X4= 20 MARKS
32) a) The following figure gives a matchstick pattern of triangles. Find the general rule that
gives the number of matchsticks in terms of the number of triangles and also draw the
next figure 3)
y ._.—-—‘——?.., S -::::,-.;‘:% P ..: :‘.‘:“'&
ﬁ“a f\:\: / .‘»"ﬁ"’ﬁ% 7 gi\\ y‘ﬁ / \
“\3\ R é’ % 4"" '}.. 2 & 4 ‘:\ '.
(@) () () @
b) Create a pattern following the same rule using any symbol of your choice. )
' 33) Where will the hour hand of a clock stop if it starts? (1X5=5)
' () From 6 and turns through 1 right angle?
(b) From 8 and turns through 2 right angles?
(c) From 10 and turns through 3 right angles?
(d) From 7 and turns through 2 straight angles?
(¢) From 2 and turns through 1 complete angle?
34) Draw 2 rough figure for each of the following and label suitably: (1X5=5)

(a) Point P lies on AB.
(b) XY and PQ intersect at M.
(c) Line / contains E and F but not D.

(d) OP and OQ meet atO.
\ny acute angle ABC.
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35) Hanif plans to tile his kitchen floor with green square tiles. Each side of the tile is Scm.

His kitchen is 180cm long and 25¢m wide.

Based on the above information, answer the following questions.

(1)  Find the area of his kitchen floor, | M
(i)  Whatis the area of the green Square tile? - O
(i)  How many tiles will he need to tile his kitchen floor? 1)
(iv)  Also find the perimeter of the kitchen floor. @

SECTION E _ (4x3=12 MARKS)
CASE BASED QUESTIONS

36) Rohan has a shop from last few years in which he was selling different items at their
respective cost per kg or per one quantity.

Things B B | Priée
Apples B Rs 40 per kg
Oranges oy Rs 30 per kg : '
Combs B Rs 3 for one
Tooth brushes Rs 10 for one
Pencils Rs 1 for one
Note books | Rs 6 for one
Soap cakes | Rs 8 for one
B The Sales During The Last Year
Apples ) 2457 kg
Oranges 3004 kg
: "Combs | 22760
“Tooth brushes 25367 ‘
Pencils 38530 )
Note books -1 40002
Soap cakes 20005
(1) Find the total money Rohan got by selling oranges. | 1)
(ii) Find the total money Rohan got by selling apples ¢))
(iii) Find the total money Rohan got by selling pencils and note books. (2)
OR

Find the total money Rohan got by combs and soap cakes.
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37) The population of Telangana state in 2011 was 35193978,
The estimated population of the state in 2025 is 40157310.
Based on the above information, answer the following questions.
() Write the population of 2025 in words in Indian System of Numeration. M
(i) Write the place value of 1 in 35193978, 1)
(iii) Find the difference between the population of 2011 and 2025 Write the answer in
in International System of Numeration. @
OR .
Write the population of 2011 and 2025 in expanded form.
38) In a village six fruit merchants sold the following number of fruit baskets in a particular

season:
o : .
Name of Number of , . !
h'?ﬂntm merchants &?&1 ;:skets | @f - 100 Fruit baskets |
Rahim (P & S &Y
Canel &) &) &) &0 8D €
—_ 0080008 |
win @O OOHBHDHEE
wisoy BEHDDHRSDHE
i) Which merchant sold the maximum number of baskets? ey
ji) How many fruit baskets were sold by Anwar? 1)

jii) The merchants who have sold 600 or more number of baskets are planning to buy a
godown for the next season. Write the name of the fruit merchants. Also find the total
number of fruit baskets sold by them. ¥))

. OR
Name the merchant who sold double the number of fruit baskets sold by Rahim. How
many baskets were sold by him?

k%%
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AT fI&T / General Instructions:

1. Q.1 to Q.20 are multiple choice questions and each question carries 1 mark:

2. Q.21 to Q.29 are very short answer type questions and each question carries 2 marks.
3. Q.30 to Q.37 are short answer type questions and each question carries 3 marks.

4. Q.38 & Q.39 are Case Based Questions and each question carries 4 marks.

5. Q.40 & Q.41 ar: long answer questions and each question carries 5 marks..

6. Draw neat labelled diagram wherever necessary.

7. All questions ae compulsory.

' PART A :
Select the most appropriate option, (1X20-=20)

1. Which activity would the duck be able to perform using the webbed feet?

(a) Flying (b) Swimming (c) Jumping (d) None of theses
2, is an amphibian.
(2) Fish (b) Duck (c) Frog (d) Camel
3. A freely suspended magnet comes to rest along the . '
(a) North-South direction (b) North-East direction
(c) North-West direction (d) East-West direction.

4. In which of the following cases do the clothes take a longer time to get dried?

(a) Summer season  (b) Rainy season  (c) Both summer and rainy season (d) All of these
5. Which of the following is a standard unit of measuring length?

(a) Fingers (b) Metre (c) Fist (d) Hand span
6. Which of the following statements is not true?

(2) Materials are grouped for convenience. (b) Materials are grouped to study their properties.

(c) Materials are grouped for fun. (d) Materials are grouped according to their uses.
7. Water boils and becomes when we heat it,
(a) Steam (b) Ice (c) Solid (d) None of these.
8. Which one of the following food item does not provide dietary fibre?
(a) Whole grains (b) Whole pulses (c) Fruits and vegetables (d) Milk
9. Fish live in water. They have streamlined body and _ for movement.
(a) Scales (b) Fins (c) Legs (d) All of these
10. __isnot an example of a terrestrial habitat.
(2) Pond (b) Desert (c) Forest (d) Grassland
Pagelof4
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11. Scurvy is caused due to the deficiency ofy

(3) Vitamin A ® Todine ™" (G) Vitantin C @lron .
12, A bar magnet is immersed in o 'Imnp of iron filings and pulled out, The amount of irgn filings
clinging to the
(1) North pole is almost cqual to the South pole,
(¢) Nordh pole is much'less than the south
13. The distance between Delhi.and Luckno
(2) Metre (b) Kilometre

(b) North pole is more than the south pole.
pole. (d) Magnet will be same all along its length,
W is usually measured in:

tre (¢) Centimetre ¢ (d) Nome of. these
14 A object is said fo be jn if'its position changes with respect to the reference point

With time,

(2) Rest (®) Complete rest (c) Motion (d) None of these.
15. When an objegt moves along a circular path, its motion is called . '

(a) Linear motion (b) Circular motion (¢) Oscillatory motion (d) Slow motion
16. A magnet always has poles, ) ' .

(a) One \ ®)Two - " (c) Three (d) Four
17. Unlike poles of two magnets each other, :

(a) Sometimes rpel (b)Attract (©) Always repel = (d) Never attract
18. Which of the following is not a junk food? ' :

(a) Potato wafers (b) Candy bars (c) Carbonated drinks (d) Ragi dosa

19. Makki di Toti, is a traditional food item of:

(a) Karnataka (b) Punjab (c) Maharashtra (d) Manipur
20. The special features-that enable Plants and animals to survive in a particular region are called

(2) Adaptations (b) Habitat (c) Habits - (d) All of these,
.- PARTB o
VERY SHORT ANSWER UESTIONS . L @x9=18) 77

Answer the following: RECD RSP S Bl
21. What is habitat? Give two examples of aquatic habitats. '
22. What are climbers? - a

23. Name the ingredieqi%s of laddoo. _ -
24. Give two example"é_.of changes in cooking tools overtime, * -
25. Describe a daily life sifua‘fibn where you feel

you have followed a scientific method,
26. Draw magnets of any two shapes. ' '

27. The property of a .ﬂeql:'y suspended magnét to always rest along the north-south direction.
Based on this, a smal] device is made. What is the ndme of the

device? What is the use of
- this device?

28. Suppps;e the distance between your school and home is 2.5 km. Express it in metres,
29. How cah we measure the length of a curved line? '

Page20f4.
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J

/ SHORT ANSWER QUESTIONS (3X8=24)
/' Answer the following:
30. Write three features which help camels to survive in the cold desert,
31. What are herbs, shrubs and trees? Explain. Give one example cach of herb, shrub and
tree.

32. Write an activity to find out the presence of starch in a given food item.

33. Write down two benefits of reducing food miles. Name two millets.

34. What are magnetic and non-magnetic materials?

35. You are given a magnet which does not have the poles marked. How can you find itg
poles with the help of another magnet which has its poles marked?

36. What is oscillatory motion? Give two examples of oscillatory motion.

- 37. While measuring the length of a pencil, it was found that the reading at one end of the

scale is 1.0 cm and at the other end of the scale , it is 10.4 cm. What is the length of the

pencil?

CASE STUDY BASED QUESTIONS

ACTIVITY

38. Make a paste or powder of a food item A using pestle and mortar .Put about half
teaspoon of the food item in a separate clean test tube. Add 2-3 teaspoons of water
to the test tube and shake it well. Add two drops of copper sulphate solution to the
test tube using a dropper. Now, take another dropper and add 10 drops of caustic soda
solution to the tube. Shake well and leave the test tube undisturbed for a few minutes.

o OBSERVATION: The content of the test tube turns violet.
(a) This violet colour indicates the presence of in the food item. A. N
’ (b) Name two food items which are rich sources of fats. 1
(c) Which nutrient'is present in pulses? ‘ (1)
(d) Peanuts show the presence of both and . ¢))
§ 39. Chickpea seeds are split into two parts. Each part is called a cotyledon. Plants that have
seeds with two cotyledons are called dicotyledons (dicots). Maize has a single thin
cotyledon. Plants with such seeds are called monocotyledons (monocots).
(a) Draw a dicot seed showing cotyledons. 1
(b) Wheat is an example of ___ (monocot/dicot) seed. (1/2)
(c) Kidney beans an example of _____(monocot/ dicot) seed. (1/2)
(d) What type of leaf venation and root sysfem can we see in a dicot plant? )
Page 3 of 4
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‘ R ' ¢
LONG ANSWER QUESTION

40. Radhika had trouble secing things in d1m light. The doctor tested her eyesight and

prescribed a particular vitamin supp‘lcmcnt He also advised her to include a few food
items in her diet.

() Which deficiency discase is she suffering from? )
(®) Which food component may be lacking in her dict? M
(¢) What is a balanced dict? )
(d) You are provided the following food items: ()
(1) Canned fruit juice
(i) Fresh fruit juice
(it1) Fresh fruit .
Which one would you prefer and why?
41. (2) The height of a tree is 4.1 metres. Express it in - 3 O
(i) kilometres
(ii) centimetres
(iii) millimetres.
(b) What is linear motion? Give two examples.

)

*k¥
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3raf®/Duration : 3 Hours

8T/ Class :VI
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fAwg/Subject : Social Science

WA f&W/General Instructions:
e This question paper comprises five sections — 4, B, C, D, E and F. There are 3

questions in this question paper

Section A- Questions from serial number 1 to 20 are MCQs of 1 mark each.

‘ o Section B —Question no 21 to 24 are Very Short Answer Type Questions, carrying?

marks each. Answer to each question should not exceed 40 words

Section C - Question no 25 to 29 are Short Answer Type Questions, carrying 3 marks

each. Answer to each question should not exceed 60 words

o Section D - Question no 30 to 33 are long Answer Type Questions, carrying 5 marks
each. Answer to each question should not exceed 80 words. :

e Section E- Question no 34 to 36 are case based questions with four sub questions and
are of 4 marks each

o Section F - Question no 37 is map based carrying 5 marks

SECTION A
MULTIPLE CHOICE QUESTIONS [1x20=20)

1) Latitudes are expressed in
a) Degree
b) Percentage
‘ c) Minute
d) Ratio

2) Indian Standard Time (IST) is hours ahead of the local time at Greenwich
(called Greenwich Mean Time or GMT).
a) 2.5
b) 7.5
c) 55
d) 3.5

3) Which of the following is not a cardinal direction?
a) North
b) South
c) West
d) North-East
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4) Apicce of land which is surrounded by water on all sides is called

5) India has more than

6)

7

8)

9)

a) Continent

b) Gulf e e
c) strait Ve P Nl
d) Island

small islands.
a) 1300 °

b) 600. .
c) 589
d) 300

a) mountains
b) Plateau
c) plain

d) island

b Hpm mountain ranges are found in Burope.
a) The Alps

b) The Himalayas

¢) The Andes

d) The

is the highest mountain peak in the world.

a) Mount Everest

b) Mount Aconcagua
¢) Mount Kilimanjaro
d) Mont Blanc

is called as the “storehouses of minerals”,
a) mountain
b) plateau
¢) plains
d) valley

10) Yamuna and Ghaghara are some of the tributaries of river

a) Indus

b) Ganga

¢) Gomati

d) Brahmaputra

11) Millennium is the period of years.

a) 1000
b) 100
c) 10
dy 1

are landforms that are much higher than the surrounding landscape.-

12) Which of the following is not an archacological source of history?

a) travelogues

b) tools and weapons
c) pottery and toys
d) coins

Page 2 of 5
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Rani of Jhans; was bomn in 1828. Which century did she belong to?
8) 19" century '
b) 18" century
¢) 16 cen
d) 17" century

14)

The Indian Constitution came into force in
a) 1950
b) 1947
c) 1952
d) 1949

15) Hiuen Tsang travelled from _____ to India in the 7th century CE,
a) China
b) Greece
c) Iran
d) Persia

® 16) _ and Mohenjo-Daro , now in Pakistan, were the first two cities of this
civilisation to be discovered.
a) Harappa
b) Rakhigharhi
c) Dholavira
d) Kalibangan

17) A dockyard is found at
a) Harappa
b) Lothal
c) Dholavira
d) Mohenjo-Daro

18) Rakhigharhi is situated in present day
a) Punjab
b) Haryana
¢) Gujarat
d) Rajasthan

@

19) Geologists are the person who study about -
 a) the physical features of the earth
b) he remains of plants, animals and humans
¢) human societies and cultures
d) the past by digging up remains that people, plants and animals

20) is India’s most ancient text.
a) The Upanishad
b) The Mahabharata
¢) The Ramayana
d) The Rig Veda
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21,

26.

27.

28.
29,

30.

31

32.
333

34,

SECTION -B
VERY SHORT ANSWER TYPE QUESTIONS

[2x4=8]
What is an Atlas?

Or
What arc plains?

What are different components of a map?
What are the different Sources of History? State any two.

What were the ancient names for India? State any two,

SECTION -C
SHORT ANSWER BASED QUESTIONS [3x5=15]
State the cardinal directions and sub-directions.
Or
What are plateaus?

Define the following terms —
a) Continent

b) Ocean

c) Island

How did early humans live? How did they procure the food and where did they live?
Or
State any two reasons for the decline of Sindhu-Sarasvati civilisation,

Who was Xuanzang?
Name some other cities of the Indus Valley Civilization?

SECTION -D
LONG ANSWER BASED QUESTIONS [4x5=20]
What is a Civilisation? Write down any five characteristics of a civilisation,
Or
Town planning is the unique feature of Harappa civilisation. Explain. )
What is the difference between local time and standard time?
Or

What are the major types of landforms? Write down the significance to life and culture
of any one of the landforms?

What is a Map? Explain different types of maps.

What are coordinates? How can latitude and longitude be used to mark any location on
the Earth?

Or
How is Time measured in History? Explain.

SECTION -E
CASE BASE QUESTIONS (4x3=12)

Symbols are another important component of maps. Our map has small drawings of
actual buildings and a few other elements, but there would not be e{xough space on the
map of a large city or a country to draw them all. Instead, a symbol is used to represent
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thise features - symbols for different kinds of buildings (for instance a railway station, a
SC ool, a post officc), for roads and railway lines, and for natural elements such as a
niver, a pond or a forest. In that way, numerous details can be shown in the limited space

available on a map.
8) Why symbols are an important component of a map? [2]
b) Draw any two symbols of a map. (1]
c¢) Name few elements for which we use symbols. (1]

35. The first term, ‘Bharatavarsha’, clearly extends to the entire Subcontinent, and the text
includes the names of numerous rivers and peoples. ‘Bharatavarsha’ means ‘the country
of the Bharatas’. ‘Bharata’ is a name that first appears in the Rig Veda, where it refers to
one of the main Vedic groups of people. In later literature, several kings named
‘Bharata’ are mentioned. The second term, ‘Jambudvipa’, means ‘the island of the fruit
of the jamun tree’. This is indeed a common tree native to India, also called ‘jambul
tree’, “Malabar plum tree’, etc. ‘Jambudvipa’ came to mean the Indian Subcontinent.

LA a) What were the different rivers mentioned in Rig Veda? [1]
b) How the country named as Bharata? [1]
c) What does ‘Jambudvipa’ mean? How did it get the name? [2]

36. The mountain terrain is usually rugged or rough, and has steep slopes. This means that
regular farming can only be practised in some valleys. Cultivation is practised on slopes
by cutting steps into the slope, this is called terrace farming. In many mountainous
regions of the world, herding is the preferred occupation over agriculture. Tourism is
often an important source of income for the people living in the mountains. The crisp
mountain air and scenic beauty attract many tourists. Some tourists also go.to the
mountains for sports such as skiing, hiking, mountaineering and paragliding. For many

- centuries, people have also travelled to these uplands for pilgrimages to holy sites. But
an excessive inflow of visitors can also put the fragile mountain environment under
pressure; it is often difficult to find the right balance.

a) What is a valley? [1]
; b) How is cultivation practised in mountain and hilly region? Give one example
of it? (1]

¢) Why tourism is an important source of income for the people living in the
mountains? (1]
d) Name some of the mountain sports which attracts tourist. [1]

‘ SECTION E

MAP BASED QUESTIONS (5x1=5)

37. Locate the following in the outline map of India.
a) Lakshadweep Island

b) Arabian Sea
¢) Lothal
d) Bay of Bengal
e) Ganga plains
L2 2
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